

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

**Regular
 SEMESTER : III**

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

Sr. No.	Roll No.	Seat No.	Name	Strategic Cost Managemen		Financial Institutions and Markets		Business Environment		Environment al Managemen		Information Technology in Business		Business Communicat ion - II		Field project - I		Co- curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50							
1	1	SBMS25001	ANDURLEKAR KUNAL KIRTIKUMAR KAVITA	19	AB	24	AB	34	AB	14	AB	11	AB	14	AB		35		45	196	36	4.0		F		
2	2	SBMS25004	BHALEKAR VINAYAK ANANT VASANTI	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB		AB		AB	0	0			F		
3	3	SBMS25008	/ CHATURVEDI UNNATI NEERAJ POOJA	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB		35		AB	35	16	2.0		F		
4	4	SBMS25009	CHAUDHARY KRISHNA NEMARAM BHANWARI DEVI	29	26	34	42	34	34	13	20	16	17	18	24		39		40	389	166	22.0	7.55	A		
5	5	SBMS25010	CHAUHAN SUJAL BHARAT MADHU	16	26	17	42	23	43	13	17	16	15	15	23		35		32	333	142	22.0	6.45	B+		
6	6	SBMS25011	/ CHITRODA RASHI PRAFUL ILA	5	0	16	24	8	1	8	12	5	3	08	01		35		AB	126	40	8.0		F		
7	8	SBMS25018	/ GURAV SHWETA SHANKAR SUNITA	30	24	28	55	33	42	14	12	16	15	17	22		40		48	396	166	22.0	7.55	A		
8	10	SBMS25022	JAGTAP RUVEDH SANJAY SANJITA	8	24	11	27	13	24	12	15	7	12	06	12		40		32	243	42	6.0		F		
9	11	SBMS25023	/ JAISWAL KHUSHI AMARSINGH SHASHIKALA	23	24	24	40	23	40	13	17	14	13	16	26		38		49	363	152	22.0	6.91	B+		
10	9	SBMS25024	JANBANDHU PRAFUL SURESH BHAGYALAKSHMI	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB	AB		AB		AB	0	0			F		
11	12	SBMS25025	JHA KUNAL RAJEEV ANNU	7	AB	7	4	8	AB	8	12	4	AB	08	12		35		AB	105	32	6.0		F		
12	13	SBMS25026	KADAM SUJAL SUNIL RUPALI	27	34	33	33	37	46	13	22	13	18	17	24		45		35	397	176	22.0	8.00	A+		
13	14	SBMS25028	KATKAR SHIVESH YALLAPA JAYA	31	24	35	32	34	38	14	16	14	12	17	20		42		46	378	164	22.0	7.45	A		
14	16	SBMS25030	LAKHANPAL AAKASH SINGH KASHMIR SINGH SANTOSH KAUR	18	AB	27	AB	29	AB	9	AB	12	AB	15	AB		AB		45	155	20	2.0		F		
15	17	SBMS25031	/ MALVANKAR NIYATI UDAY VEDIKA	28	12	29	29	37	39	13	17	20	17	17	21		41		35	355	136	18.0		F		
16	18	SBMS25032	MANSURI FAROOQ ALTAF RUBINA	16	6	23	28	34	32	AB	13	8	12	12	20		34		30	268	98	16.0		F		
17	19	SBMS25034	MISHRA SURYANSH SUSHIL SAVITA	21	24	22	24	32	14	12	21	12	12	18	22		29		45	308	104	18.0		F		
18	20	SBMS25036	/ NIKAM ANKITA SANTOSH SHUBHANGI	15	24	25	24	21	11	11	6	12	5	14	12		20		30	230	48	10.0		F		

COSMOPOLITAN'S
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular
SEMESTER : III

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

Sr. No.	Roll No.	Seat No.	Name	Strategic Cost Management		Financial Institutions and Markets		Business Environment		Environmental Management		Information Technology in Business		Business Communication - II		Field project - I		Co-curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
19	21	SBMS25041	/ PARMAR VEDIKA HASMUKH ARUNA	20	26	31	26	30	34	14	20	14	14	17	21		37		48	352	146	22.0	6.64	B+
20	22	SBMS25043	/ PATWA NANCY MUKUNDLAL PUSHPA	18	7	31	25	37	AB	14	AB	15	20	16	24		39		46	292	94	12.0		F
21	23	SBMS25044	/ PAWAR MOHINI YASHWANT YASHIKA	13	24	22	24	22	29	16	14	12	15	09	23		20		25	271	108	22.0	4.91	P
22	24	SBMS25046	/ RAJPUT KOMAL GULSHAN KUMAR SUNANDA	26	24	11	27	21	12	4	18	12	12	15	19		20		35	256	66	12.0		F
23	25	SBMS25048	/ RATHOD SANJITA SANJU ANJANA	30	30	33	30	36	34	12	19	15	17	19	20		40		45	380	170	22.0	7.73	A
24	26	SBMS25050	/ SAYED INSHA MOHD SHAKIL RUHI	27	29	35	54	36	46	14	19	13	19	17	21		41		40	412	180	22.0	8.18	A+
25	27	SBMS25051	SAYYED MOHD AYAN MD WAJID HUSSAIN PARVEEN	26	26	32	46	37	47	15	24	12	16	20	24		40		45	411	174	22.0	7.91	A
26	28	SBMS25054	SHAIKH JAHAN SATTAR AFSANA	30	27	31	35	37	39	17	22	15	15	19	23		39		40	392	168	22.0	7.64	A
27	29	SBMS25056	/ SHAIKH SANIYA EBRAHIM SHEHNAZ	35	34	36	40	39	42	16	19	20	17	20	25		38		47	428	184	22.0	8.36	A+
28	7	SBMS25060	SHAIKH SOHEB PARVEZ SHABNAM	28	24	32	37	24	38	13	21	14	14	18	15		43		AB	321	134	20.0		F
29	30	SBMS25062	SHIRGAONKAR AALAM MUBARAK NASREEN	30	27	32	31	36	42	15	20	14	18	20	21		40		33	379	164	22.0	7.45	A
30	31	SBMS25063	SHIRSAT ANIKET GAUTAM RATNABAI	10	9	8	24	22	13	8	12	12	13	15	15		20		29	210	52	10.0		F
31	32	SBMS25065	/ SOLANKI TRISHA SANJAY SUSHILA	22	10	31	24	25	11	12	12	16	4	15	12		20		46	260	70	12.0		F
32	33	SBMS25068	/ VARMA NEHA AMARJIT VARSHA	25	25	32	34	34	38	15	14	16	15	19	20		37		46	370	158	22.0	7.18	A
33	15	SBMS25070	VORA ABHAY RAKESH JAGRUTI	3	15	9	24	5	28	3	7	7	12	07	12		AB		AB	132	0			F
34	34	SBMS25071	/ WANKHEDE SNEHA KAILASH REETA	10	AB	24	28	15	30	14	16	12	AB	16	16		38		45	264	84	12.0		F
35	35	SBMS25072	YADAV VISHAL KUMAR RAM ASHREY REETA DEVI	28	30	32	27	34	33	15	20	13	13	18	18		37		35	353	150	22.0	6.82	B+

COSMOPOLITAN'S
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular
SEMESTER : III

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

Sr. No.	Roll No.	Seat No.	Name	Advertising		Event Marketing		Business Environment		Environmental Management		Information Technology in Business		Business Communication - II		Field project - I		Co-curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade					
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE			
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50										
36	81	SBMS25002	ANSARI MUAZ MEHBOOB SULTANA	31	34	32	35	33	36	16	13	12	14	18	16		43		35					370	156	22.0	7.09	A	
37	82	SBMS25003	BARAVKAR MIHIR RAM JAYSHREE	33	37	34	39	37	44	18	15	14	12	16	23		46		30					398	174	22.0	7.91	A	
38	83	SBMS25005	BHANJI VARAD SHARAD SHEETAL	29	40	38	43	34	39	15	17	12	18	15	20		42		30					395	174	22.0	7.91	A	
39	84	SBMS25006	/ BHANUSHALI HASTI NILESH MANISHA	27	34	34	43	24	38	13	13	13	17	16	21		32		AB					325	142	20.0		F	
40	85	SBMS25007	/ BHUI SHRUTI HARI CHAMPA	34	26	37	24	36	24	17	14	16	12	17	19		46		42					367	166	22.0	7.55	A	
41	113	SBMS25012	DANGLE VEDANT SANJAY MANISHA	AB	24	AB	24	AB	24	AB	12	AB	AB	AB	12		20		AB					116	8	2.0		F	
42	86	SBMS25013	/ DAS DEEPIKA SHIVAM KUMAR SONI	31	44	32	40	33	47	10	13	12	18	16	26		27		40					392	170	22.0	7.73	A	
43	87	SBMS25014	/ ERANGALE REBECCA SAVIYO CHLORINA	28	35	36	40	32	25	13	14	12	16	13	18		29		AB					311	132	20.0		F	
44	88	SBMS25015	GAIKAR KSHITIJ SANTOSH SANJANA	16	9	21	1	27	12	13	3	12	12	17	05		28		AB					176	20	4.0		F	
45	89	SBMS25016	GAIKAR SAGAR SANTOSH SANJANA	23	24	22	9	24	24	13	6	13	12	15	06		37		40					268	76	14.0		F	
46	105	SBMS25017	GURAV RAMESH VIJAY VARSHA	35	46	30	39	28	38	15	15	14	16	18	19		40		42					398	174	22.0	7.91	A	
47	110	SBMS25019	/ HASAN AASIYA MOBIN ZEBAA	35	45	39	49	36	49	16	23	16	19	18	24		42		40					456	200	22.0	9.09	O	
48	90	SBMS25020	/ IDRISI TAHURA ABDUL AMIN AFSANA KHATOON	33	24	32	28	24	29	14	12	15	12	14	13		41		45					336	140	22.0	6.36	B+	
49	111	SBMS25021	JADHAV YASH SUNIL SHRADHA	29	39	34	41	33	47	13	18	12	18	19	23		42		35					409	180	22.0	8.18	A+	
50	109	SBMS25027	KALTHE VARDHAN UPESH VIDYA	AB	28	AB	24	9	24	AB	17	AB	15	AB	25		28		AB					170	12	2.0		F	
51	112	SBMS25029	KEDARI OMKAR GANESH SINDHU	25	24	29	28	22	32	10	12	12	12	18	06		42		30					302	108	20.0		F	
52	91	SBMS25033	/ MATHURIA DHANVI PRADEEPKUMAR NEHA	26	28	29	24	30	28	14	13	9	14	14	15		39		AB					283	110	20.0		F	
53	92	SBMS25035	MOHAMMED HUSSAIN KALEEM FARHA	26	AB	30	AB	32	AB	15	12	12	AB	20	16		44		AB					207	44	6.0		F	
54	93	SBMS25037	/ PADYACHI DIVYA KASHI MAHESHWARI	17	29	25	24	22	28	11	14	12	14	17	22		20		45						300	116	22.0	5.27	C

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

**Regular
SEMESTER : III**

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

Sr. No.	Roll No.	Seat No.	Name	Advertising		Event Marketing		Business Environment		Environmental Management		Information Technology in Business		Business Communication - II		Field project - I		Co-curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
55	94	SBMS25038	/ PANDEY HARSHITA DINESH MAMTA	32	37	37	43	22	43	13	15	14	16	14	21		38		45	390	170	22.0	7.73	A
56	114	SBMS25039	PARMAR SIDDHARTH DHARMENDRA MANISHA	10	24	10	24	AB	24	AB	6	AB	1	AB	12		26		AB	137	10	2.0		F
57	115	SBMS25040	PARMAR VED LALIT DIPIKA	AB	13	AB	13	AB	8	AB	12	AB	4	AB	13		26		AB	89	10	2.0		F
58	95	SBMS25042	PATHAK VIJAY MANONARAYAN MALTIDEVI	28	33	33	40	34	38	13	15	12	15	18	17		42		30	371	164	22.0	7.45	A
59	96	SBMS25045	PENDHARI YASH SHARAD SAKSHI	27	35	27	33	30	33	13	12	14	13	16	12		47		30	342	150	22.0	6.82	B+
60	97	SBMS25047	/ RANA NIYATI MAHENDRA MEENAKSHI	22	26	26	24	32	24	14	12	12	12	16	13		43		45	323	130	22.0	5.91	B
61	98	SBMS25049	/ SABUNWALA MADIHA JAVED FARHANA	30	30	33	31	34	25	15	19	12	13	20	21		45		40	368	160	22.0	7.27	A
62	99	SBMS25052	SHAH ISMAIL ATIMULLA ASMA	32	35	33	39	32	27	15	14	12	14	19	16		41		47	376	160	22.0	7.27	A
63	101	SBMS25053	/ SHAIKH ANUM MOHAMMED SULTAN NAZIA	28	42	32	43	33	38	13	17	16	15	19	24		41		45	408	182	22.0	8.27	A+
64	103	SBMS25055	SHAIKH MOHAMMED ALFAHAD SALIM MUMTAZ	29	24	30	24	26	24	12	12	12	12	20	18		40		31	314	124	22.0	5.64	B
65	104	SBMS25057	/ SHAIKH SANIYA SHAKIL AMINA	33	41	38	48	35	39	16	19	16	17	19	24		42		47	439	190	22.0	8.64	A+
66	100	SBMS25058	SHAIKH AFTAB JAMAL AHMED SABINA	25	33	34	26	27	35	13	18	12	14	15	17		41		32	342	150	22.0	6.82	B+
67	102	SBMS25059	/ SHAIKH AYESHA ISHATIYQUE AHMED QAMAR JAHAN	18	24	32	24	34	11	4	12	16	12	18	13		28		35	281	94	16.0		F
68	106	SBMS25061	SHAIKH WAHID SHARIFUDDIN RUKSANA BEE	31	40	37	33	32	37	13	20	12	12	19	18		40		29	373	160	22.0	7.27	A
69	117	SBMS25064	/ SINGH SANIYA SHIVBHAN PUSHPA	16	4	26	13	10	9	5	12	6	12	AB	12		26		45	196	30	4.0		F

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Management Studies)

EXAMINATION : October - 2025

**Regular
 SEMESTER : III**

Sr. No.	Roll No.	Seat No.	Name	Advertising		Event Marketing		Business Environment		Environmental Management		Information Technology in Business		Business Communication - II		Field project - I		Co-curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade					
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE										
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50										
70	116	SBMS25066	THAKUR BHUSHAN SHANKAR SAKSHI	AB	30	AB	34	AB	27	AB	15	AB	12	AB	12	20		AB							150	8	2.0		F
71	107	SBMS25067	VAIDYA YASH KIRAN SAYALI	35	50	39	47	36	45	14	28	14	18	17	25	42		28							444	192	22.0	8.73	A+
72	108	SBMS25069	/ VISHWAKARMA NANDINI ACHHELAL ASHA	27	25	37	31	35	24	16	20	16	15	20	14	42		40							365	154	22.0	7.00	A

B. Banekar

I/c PRINCIPAL
 Valia C. L. College of Commerce
 & Valia L. C. College of Arts
 Autonomous
 Gujarati Linguistic Minority Institution
 Andheri (West), Mumbai- 400053.